Mr. Chau’s Belmont Socials 10 Class. 2014

Macdonald’s National Policy
1) Why did the Canadian government need a transcontinental railroad? (3)
	
Canada did not allow negotiations

They thought that the Canadian government would follow through with what they promised

Buffalo hunt was declining and would like another alternative (farming) to help them survive.
They were not against new Canadian settlers as long as they get to keep their traditional lifestyle and 



2) What are 4 things Macdonald needed in order to build the railway? (2) ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

3) Who was Hugh Allan and how did he become rich? (2) ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

4) Describe the conditions why Hugh Allan would agree to the CPR contract?(2) ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

5)  What was the Pacific Scandal and how did this event make John A. Macdonald resign? : (2) ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
6) Who was the new Prime Minister after Macdonald resigns? Why did the citizens not like him? (2) __________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
7) What were the three components to the National Policy? (3) __________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
8) How  did the National Policy help Macdonald get back into the government? (1) __________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
